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General Instructions:
1. Candidate must write his/her Roll Number on the first page of the Question Paper.
2. Please check the Question Paper to verify that the total pages and total number of questions contained in

the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

4, Write your Question Paper Code No. 54/ ASS /4 - A on the Answer-Book.

o (@)  TheQuestion Paper is in English/Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  Ifyou choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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ENVIRONMENTAL SCIENCE (Theory)

wgiexot fogm (fagr=)

(333)
Time : 3 Hours | [ Maximum Marks : 80
9y : 3 9 ] [ quif : 80
Note : ()  This Question Paper consists of two Sections, Section “A” and Section “B’.

{ii)  All the questions of Section “A” are compulsory.

(i) Candidates are given a choice in Section ‘B’. They are required to attempt
the questions from either “Option I” or “Option II”.

(iv) Maximum marks of each question are indicated against it.
fewr: () wmyw-wddeed-ae ' agae s

(i) EvE ' H fou T Tt v afard ¥

(i) @ve ‘&' ¥ fou g 7o wHR % fad ues fomew # 4 wwA w2

(iv) W WA % i 9 feg e ¥

SECTION - A
s - A

1.  State any four stress related diseases. : 1

gare (wfdaer) | Fafua fo<l ar Al & 79 =R |

2.  Clouded leopard is a depleted species. Why ? 1
FARSS g U AT (THIG Wig: ) THivis 21 i 2

3. Pick out any two acid rain contributing chemicals from the following ? 1

Carbon dioxide, potassium dichromate, sodium thio-sulphate, methane, methyl chloride.

Frefafed o @ ¢ 1 vt v gfte 55 wror sre-aui 2 22
FTa SRS, Nefirm eEwhie, Gifean aml-vatre, BdF, Afe sinEe )

54/ASS/4-333-A] 2 AVVEEARTFRRARAR A ¢ cont..



4.  What are the main causes of unsustainability ? 1

I Srafifian & wigE wRo € 2

5.  What is meant by draught animal ? Name any one draught animal. 2

HIETE! Sig § 9kl 1 1f9y™ § 7 ol U sTREme ig &1 A 9aisu |

6.  Primitive humans were “hunters and gathers” - why ? 2

arfen we ot oIk o' 41 w2

7.  State one point of difference between each pair of terms given below : 2
(a) Speciation and Extinction
(b) Xerarch and Hydrach

e fou T g Ws2-grl § HiE UF SR FaRy
(a) ifaeewa iR fasrm
(b) YEhAR SR St

8. Name the two types of settlements and mention the basis on which they may be 2
termed.

2 YHR &1 FAdl & A 9qE0 3R 39 YR St off 9=t wifee 59 w = T fou s g #)

9.  What is meant by mega diversity zones ? 2
weifafaudl wfedd | e s aed 22
10. Expand CFL. What is the importance of mercury in CFL ? . 2

CFL %1 90 74 fafew | CFL § wehit %1 %1 e 22

11. Why Mahatma Gandhi is acknowledged as the Patron Saint of Indian environmental 2
movement ?

TRICHT T o1 Wt Yieo] AiSer o1 Si&h Ha 941 TH1 <l € 2

12. Write the different stages involved in Sulabh’s approach to restore human dignity ? 2
HHa AE-HA1El & oy U | daffea fafvs sweeensti &1 == sifau)
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13. (a) Given below is a figure of an ecosystem. Answer the following questions : 4

(i)  Name the above ecosystem.

(i)  What are the three types of zones that the aquatic plants can be seen in the
above ecosystem ?

(b) Distinguish between biome and ecosystem.
() ) e o1 u o fean o #1 FreAferfad g % e S

() W feu T ufEs 1 9m sqaE )
(i) S UGS § F BHA-F T THR F Hfeay & o Toig 09 28 o g £2
(b) Sfam qun wiftds § afax saRy |

14. Ram, Mohan and Vishnu are friends of same village. Ram is a farmer. Mohan has 4
- 19 years old son and Vishnu’s mother is a TB patient. Ram, Mohan and Vishnu planned

to move city for good income, so that the son gets quality education and mother proper

medicinal facility.

(a) As a student of environmental science what do you think could be reason for
their suggestion and mention any four other reasons which push rural folk out of
their villages. _

(b) State any four typical features of urban communities.

T, e 3R oo v € e F A i § 1 om s fEeE R e s 19 9 A @

SR feroy =1 A qife 1 W7 71 W, He AR fro wew S # At I A S o

e W, I T ) I FIC F e el T 9o J F w3 @ T

(a) At fom % w foeneff 39 % 0 a9 ST AN F IR F F0 G € qon w
3 IR HROT A3, FSieh asTE | AHIOT &A1 79 e Bre =@ed £

(b) ¥l WA T HE =R yEd fafiread s
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Deepak’s mom is finding difficult to cook in the kitchen as there was poor ventilation
and she was complaining about it to Deepak.

(a) Name the pollution due to the poor ventilation of kitchen.

(b)  If you are Deepak how will you prevent and control this pollution ?

Si9sh 1 AT 6l THEER H G 96M H HoE 2 ¢, Fif a8 ag-gare 3fad TR &
T § 3R 32 <o A 38 ) frrd ot 97

(a) THEER & 3foq ag-HaeH & HRO A 9 GG F AW AR |
(b) fg o7 <iaek & @ 39 guv 1 FHT gER T |

Differentiate the following :

(a) Mortality rate and Natality
(b) Emigration and Migration
frefafad 9 i saRy :

(@) Fg WA TH R

(b) IHAH IR YA

(a) Soil is renewable or non-renewable resource - justify your answer.

(b) When you are going to school you observed soil pollution in your neighbourhood.
Suggest any four points to control the soil pollution.

(a) HEI TEIHROTE HEHA 7 S1oE STAIHI0T WHIEA | 399 3T i qehETal =iy |

(b) Tl S HHA Y 379 TS H 1 WUV 3@ | HeT YT i F0 w7 % fog g
TR 9T SamEy |

State any one international convention to conserve the wetland flora and fauna.
Describe it in brief. )

AT % FAeafasa iR wivremg % d@tem % fou fFd v s gagn #t 9= St

(a) Surjith is a farmer who decides to start agro forestry near to his house. You are
an agricultural officer of that area. State him any four consequences of agroforestry
on environment.

(b) What is meant by eco-industrial revolution ? Explain how it is useful to minimize
the human impact on natural ecosytem.

(a) TSI T fHam € i o799 =R % 9| FHiuarfet STRY wE 9ed €1 3179 39 360 &
Ff sfust €1 e % @19 Fiafet F waiero | =) aiord #1 == S

(b) OifteiEnfis wifa o1 7 o1 82 Twenet saRy fF o i ® aee-gvE #
FH FH & fau 3 58 yoR w1 @ 22




20. (a) Sudhakar and Varun are friends and they will be together always. Sudhakar 6
used to smoking and chew tobacco.

()  How smoking and chewing tobacco does affect Sudhakar ?

(i) How does smoking of Sudhakar affect Varun ?
(b) Name the disease caused by the following :

()  Asbestos dust of asbestos mines

_ (i) Silica of silica mines

(iii) Cancer in blood forming cells

(iv) Cancer in skin ‘
(2) GHTHT ST e fird € TR T & W wa ¥ 1 guE YT Il 7 1 dang

1 I FI ¢ |

(i) S o HYH R g -Ha G B o wR e w E 2

(i) GEH R YHUH FH F FRO T50 HG TR g o & 2
(b) FrAfafEd % w0 3o @9 9 I % T T

() U G w VR e

(i) fafes @ i fafawo

(i) ®feX FETOT T At S S

(iv) = FW

21. In India 79 species of mammals, 44 of birds, 15 of reptiles and 3 of amphibians are 6
threatened. What are the causes for the loss of biodiversity ?

RAed § T T 79 TS, ufer % 44 TS, TG # 15 wieis qon demkre
&I 3 TS Heherom 1 3R (faeiimget) §1 S fafawm o a3 ¥ w1 5 32

22.  Murugan is rearing and keeping fowl, duck and hen and Vinoth is cultivating honey 6
from colonies of bees in large quantity :

(a) Name the agricultural practice carried by Murugan and Vinoth.

(b)  What are the major advantages of honey cultivation ?

(©)  Why Murugan’s agricultural practice is most popular and easy one ?

(d) State any other two important newer agricultural practices of great value.

e TA-gfifal ol awd e ¥ qen fore Rymfread % o9 @ 92 Yan W v W w1
g

(a) HEM R foiR g0+ 9T el Fiy-srawri % A" 99wy

(b) WIS H FFAEE F F 9 E 2

() T&H %1 % =aum fus dsfim v emmm w6 22

(d) e FeFar ot 3= 3 STHETH T HiY e F T Hir
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SECTION - B
Qg -d
OPTION - 1
ferered - 1
(Water Resource Management)
(STeT HETYT YEuT )

23. How do forests help in recharging ground water ? 1
T 68 JHR q=a & AR F e g € 2

24. Name four major types of precipitation ? 1
IR Y@ HAINIU & YHRI % AW fafau

25. What is fluorosis ? Write the maximum permissible limit of fluoride for drinking 2
water ?

WIS F1 T R ? U9 9 H wgeivEe i i SR W ehE |

26. Do you agree that ground water is safe for drinking ? =
1 3 91 d § 6 Joia 911 % forg froge an g ?

27. Your sister and you were watching TV. You happen to watch a show called “My 6
India” in which they were showing about forts and palaces in Rajasthan. You were
amazed to see that most of the houses and forts had a roof top water harvesting system.

But your little sister was confused about the whole water harvesting part.

(a) Explain in simple words about Rain water harvesting method and its merits to
your sister.

(b) State any four modern methods of water harvesting.

(c) Is it important to harvest water ? Give any two reasons for your answer.

T e 3T Y TR W I FEHH 38 @ & | HAmaw o7 8 9Re" AHE FEwa
T @ § oo T o el oik weel & an | feam s @i | o9 97 o  F eved
gen for rfrerien wepml 3R fopedl 1 ol W STol-HRon soaean of | ifed S9! 8 wdl-
o 0 R oire) R g oA

(a) EE YRl H ST e 1 qui-sra e fafy i qen skt Swifiast % on o sagy |
(b) SE-E9 H frgl IR snyfte fafial #i ==t it

(c) TEA-TYRUT HTA Fl SEYISH €2 39 I F feaw FE 3 HRO1 5y |

|
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24,

25.

26.

27.

OPTION - II
fasea - 11
(Energy and Environment)

(=t ud ugtenor)

What is the role of hydrogen in NASA’s space program ?
A A FEHH (W) H BRESH 1 @ i a § 2

Name any two major oil reserves in India ?

WY % @A g A Ja-Tiral % AW awEy |

Define Reforming hydrogen.
I (Reforming) BIEESH &1 uftwmn farfau |

What are hard coal, soft coal and brown coal and arrange it in the increasing order of
carbon content.

FER (hard) FIIE, F= (soft) HIFA AR ¥ (brown) Frae F1 27 ¥, 3l =98 FEa =1
IIGHM HEl & STTER Fafeed Hifeu |

() Youand your friends visited Auroville visitors centre, Pondicherry. Describe the
new energy efficient technologies and equipment applied in its construction.

(b) What is the role of energy auditing ? How it will be helpful in energy
conservation ? Explain with one example.

(a) 39 AR 9 it 7 wiferd feord sae wies g &1 yoo fean) 58 o § o
Tt - fedet et & g fea T, S 9 it |

(b) Si-oTEn GE 1 P A S 2 Sl Sa § 39 FRe YR Hee fied 32
T 32T d EU THSH! AT FHife |
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